EAGRAROBREERT — 2 N— ABISH —F 20205108310 (£) 9EEH5H

WAl 7 71 FILL—X C2 5% —#% ‘ [%z] #% ‘ [ErmE] — | 4 (£) 13000 F4E
[A&4£] 1 7% :500,000 ™ ~ 23%&:175,000  ~ 3 #&:100,000 @ ~ 4 3#&:75,000H . 5 & :50,000
BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
J— RZE—2% H o3 sﬁlﬁ*géﬂfﬁ 1:27.0 1-1-1-1 | 42.5| — | 4 | 487 i#’}% (B
. (_) - 3
R:2 kA>T UE—> B:50%2-—> (-5) FATLARNITT
A4 TIN=2R 4 8 ig%éﬁﬂl 1(:12/72.)1 5-5-4-2 |41.7| — | 12 | 483 Eiﬁ? (=)
LA TATv— B:FLIYTT—+h (-2) HET7—L
7 rZ # 5 ﬂé}%i‘ 1:27.3 6-6-3-3 [42.1| — | 2 | 461 Hé)ﬁ;ﬁfé‘f%ﬂ)
. 1 -
L:G7—3VT7> B:¥+vI377+3 M (=3) IS T e
D ET A €29 éﬁa?ﬁﬁa 1(:12/72.)4 1-10-9-4 |#1.5| — | 10 | 457 Emgz (=H)
QiRAIZTr—2 v EII— ) sta77—n
JZo7Z2+E0 H o4 ?g%g%?k 1:(27.8 8-8-8-6 |41.9| — 1 495 :F%ﬂ)g\ _(mH
. 2) aHEE
i*f’777f')7r/ B¥o50-x70— 0 | m A%
6156 EX/NFIF 49 ﬁ%” Tﬁf 12-12-12-9 | 41.5 | — 8 485 %;?ﬁﬁ%ﬁ
QT RTINS N BITLTUF Y- 43 | s
28l s £ 1% —3 £ 5 ?22356& (172;79) 7-7-7-8 | 42.1| — 9 479 zg;ﬁfi _'_(E%g%
ROYIZGr-R BHISEETa-A 0 | e
S S 11| HRERRE 1:27.9 10-11-11-10| 41.8 | — 11 465 | BEMELH (BH)
817110 <A xIVINILEY > A54.0 (AF) +5) At
R:TITRATILI B xR —X EvilLy RT7—L
glgliy| Ly FE/ET 5 g{l(l)% 1:(218).1 2-4-6-7 |42.9| — | 3 | 476 %iﬁl;ﬁé— (=50
LiFNT =7 BETV2TIYavT -4 HBET7— L
1wl 2 [ E-9TF1XF i 4 ﬁ%& Ki; 3225 |43.1| — | 5 :ﬁ %Ff;ﬁﬂ
R:bh—t>hvlLARY B:7—-IAXy b EviLy RTr—LA
il Ay 71 b H 9 Suél%%m 1:(238).8 9-9-10-12 | 42.9| — | 7 | 508 Eiﬁ? (F#)
RN=YITL BT O a7 -n
1218l12| v x i # 10 é-’:‘éig’é% (11:219/.21) 4-3-5-11 | 44.0 | — 6 468 gi@ (=)
L:y+—I> Tl B:INT4>TzH— (#2) pE e ]
® I —F—@EBIERL
12—74— 7,11,2,12,9,4,5,8,1,10,3,6
23—+ — 7,2,12,11,9,4,5,8,1,3,10,6
30—7+— 7,2,4,9,12,11,5,8,3,1,10,6
41—+ — 7,9,4,3,2,8,11,5,6,10,12,1
[ RN
B OB 7 830H 714K 7-9 4,800 % E 6-7 2,670M 3ER 4-7-9 50,1004
1 B 7 3509 4-7 1,330 B & 7-9 21,960 JEH 7-9-4 339,240H
9 1,750 4-9 5,610M B H# 7-9 36,4004
4 230M

ABTICOVWTRHDBTERERRODDE, JTHERLE,



